
At a watering hole, 7 elephants are drinking water. Then,
3 more elephants arrive to drink. How many elephants are

drinking water now?
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A tiger is stalking its prey in the jungle. It spots 9 deer in a
clearing. After some time, 6 deer run away into the trees.

At the park, 6 dogs are running and playing fetch. Soon, 4
more dogs join them. How many dogs are playing in total?

After some time, 7 dogs go home.
How many dogs are still playing?

Addition and Subtraction
Story Problems 

How many deer are still in the clearing?
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A tiger is stalking its prey in the jungle. It spots 9 deer in a
clearing. After some time, 6 deer run away into the trees.

At the park, 6 dogs are running and playing fetch. Soon, 4
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After some time, 7 dogs go home.
How many dogs are still playing?

Addition and Subtraction
Story Problems 

7 + 3 = 10

There are 10 elephants drinking water.

9 - 6 = 3

There are 3 deer still in the clearing.

How many deer are still in the clearing?

6 + 5 = 11  There are 11 dogs playing in total.

11 - 7 = 4    There are 4 dogs still playing.
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